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Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will himself be responsible for filling wrong Roll No.

2. At the start of the examination, before attempting the
question paper kindly check your test booklet and O.M.R.
Answer Sheet and ensure that:

*  The serial numbers of test booklet and O.M.R. answer sheet
are same.

* Al pages of test booklet and O.M.R. answer sheet are
properly printed. All questions from S. No. 1 to last S. No. 150
are printed and pages from S. No. 1 to last S. No. 24 are there
in the question booklet.

In case of any discrepancy/defect the candidate should
immediately report the matter to the invigilator for replacement of
test booklet and O.M.R answer sheet. No claim/objection in this
regard will be entertained after five minutes of start of examination.
Candidate will be liable for it.

3. Answer all questions.

4. All questions carry equal marks.

5. Only one answer is to be given for each question.

6 If more than one answers are marked, it would be treated as
wrong answer.

There is no Negative marking.

Each question has four alternative responses marked serially
as (A), (B), (C), (D). Candidate has to darken only one circle
or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

® N

9. Use of Mobile Phone/ Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per
rule.

10. If there is any sort of ambiguity/mistake either of printing or
factual nature in Hindi and English version of the question,
the English version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.I.R. would be lodged
against him/her in the Police Station and he/she would be liable to
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
him/her permanently from all future examinations of the Board.
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In which year Awadh was annexed in British

Empire?
(A) 1852 (B) 1899
(C) 1766 (D) 1856

Which one of the following is not correctly
matched?

(A) Vijay Singh Pathik — Todgarh Jail

(B) Arjun Lal Sethi— Belur Jail

(C) Kesari Singh Barhath — Hazaribagh Jail

(D) Jorawar Singh — Bareilly Jail

Rajasthan Mahila Parishad was founded at
Udaipurin 1947 by -
(A) Aruna Roy

(C) Durgawati Devi

(B) Indumati Goenka
(D) Shanta Trivedi
Jamnalal Bajaj was the one who set up -

(A) Jaipur Prajamandal (B) Mewar
Prajamandal

(C) Sikar Prajamandal (D) Marwar
Prajamandal

From which session, Indian National Congress
started to support Freedom Movement of
Princely States?

(B) Haripura

(D) Lucknow

(A) Nagpur

(C) Amritsar

Who was the Viceroy of India when the British

India’s capital was shifted from Calcutta to

Delhi?

(A) Lord Ripon (B) Lord Dalhousie

(C) Lord Harding (D) Lord Dufferin

Under the leadership of which leaders was the

Kheda Peasant Movement headed?

(A) Gandhiji and Vallabh Bhai Patel

(B) vallabh Bhai Patel and Vasudev Balwant
Phadke

(C) Gandhiji and Vijay Singh Pathik

(D) Sitaram Das and Vijay Singh Pathik

In which language was the first issue of journal

‘Ghadar’ published?

(A) Urdu

(C) Punjabi

(B) Marathi
(D) Gujarati
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g a¥ oy @1 fafewr wmw~sy o Ao

gar?
(A) 1852 (B) 1899
(C) 1766 (D) 1856

frfalRaa & @ &9 a1 g™ gafed 2
g7

(A) fasra Rig ufdre — cfeTe Sl HY
(B) 3S{TelTed WSl — deR ol

(C) T Rig IRES — BOINRIENT Sl

(D) SRR Rig — el o

RO AT URYE &I IO, ISIYR A
1947 ¥, fodd gRT g5 o7

(A) 31501 T (B) S TR

(C) grrfady ¥4t (D) < B3R
STHHTTS §oTTol = QIO @f off —

(A) SR ysiFHed  (B) HaTs UsTHed

(C) TR UoITHSd (D) ARATS USIHS

RO TS S A, fha arfede 9 <2
Raradi @& wa=Idr Sfeles T A <A1 URT
faar?

(A) RTqR (B) =R

(C) ™R (D) oIS,

fafeer IRaT & TSI BT b | el
RMFIIRT By STM & T AR &1 aRRRE
P oT?

(A) df€ Ro= (B) GifS SeTaroi

(C) A3 'IfST (D) dfe SHRA

Wl fhar srale fbe el & wiged # g3l
oqT?

(A) TSN 3R Toatd 918 U

(B) e W18 U<H 3R dgad doldd Hsd
(C) RS iR fasra R uferes

(D) AaR™ <9 3R fasra Rig ufdre

MR’ T el BT Ugell 3 b 9T H Yah1i¥rg

g o7
(A) 5§ (B) =T
(C) TSI (D) TSRt
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9. In which Act, provision was made for the 9. YRJ & AR SRS BT URYS H, YoH IR Th
appointment of an Indian member in the RO Ha® o Fgih &1 g 6|
Governor General’s Council of India for the first rfrfre # fopar war?
time? (A) v gRyg | — 1919
(A) Indian Council Act - 1919 (B) W gRye fIRTT — 1909
(B) Ind!an Counc!l Act - 1909 (©) 1 gRYE SRFRM — 1861
(C) Indian Council Act - 1861
(D) Indian Council Act - 1896 (D) ety gRwe sifdfrs — 1896

10. With the efforts of which of the following, the 10. fq=faRaa & 9 fodas gl 9 T 3if%
‘Age of Consent Bill’ (1891) was passed? g fda (1891) UTiRa gar?

(A) B.M. Malabari (B) Bal Gangadhar (A) 1.0, ATAERT (B) gTa1 TR ot
Tilak

(C) Harbilas Sharda (D) Mahadev Govind (C) Rfdem eRaT (D) HEled ifd—< IS
Ranade

1. Where did Thakur Khushal Singh lead the 11 1857 % fagIE & Y, 3R HITA Rig 7 fHd
rebels, during the Revolt of 18577 e fqgifedl &1 g fdhar?

(A) Kota (B) Nasirabad (A) PreT (B) TiRTETS
(C) Aauwa (D) Erinpura (C) 3msar (D) TRAYRT

12. Who wrote the ‘Early Chauhan Dynasties’? 12, 3reft dieM SRR @ oGd & —

(A) G.A. Grierson (B) Dasharatha (A) Siru. e (B) gorRer AT
Sharma
(C) G.H. Ojha (D) G.N. Sharma (©) iixm. sirem (D) Sl.¢. =

13. Who among the following famous saints, was 13. Farq & & 3rAdR Nl §, S o9 a1l uiRIg
born in Alwar district of Mewat region? T o —

(A) Sunderdas (B) Garibdas (A) v (B) TRIgeTd
(C) Laldas (D) Hariramdas (C) TeTe™ (D) BRI

14. ‘jjlaas Khas’ was established by - 14. 3TN WA’ BT e fhar o —

(A) Maharaja Banne (B) Maharaja Ajeet (A) HeRIST 91 Rig 9 (B) #eRIIT mia Rig
Singh Singh 5l

(C) Maharana Sajjan (D) Rana Bhagwant (C) HERTOT owd Rig (D) I wira=d Rig o
Singh Singh . i

15. Match the following — E 15. gAford HIfvTY —

Handicraft Product Place TR IR R

(1) Badla (i) Jaipur (1) STt (i) STIYR

(2) Namda (ii) Leta (2) a1 (ii) <TeT

(3) Paw Quilt (iii) Jodhpur BREESIE (iii) \—rng’\’

(4) Khesala (iv) Tonk (4) T (iv) <i®

Code - he —

(A) 1-iii, 2-iv, 3-i, 4-ii  (B) 1-iv, 2-iii, 3-i, 4-ii (A) 1-iii, 2-iv, 3-i, 4-ii ~ (B) 1-iv, 2-iii, 3-i, 4-ii

(C) 1-iii, 2-iv, 3-ii, 4-i (D) 1-iv, 2-iii, 3-ii, 4-i (C) 1-iii, 2-iv, 3-ii, 41 (D) 1-iv, 2-iii, 3-ii, 4-i

16. Which Ruler of Marwar did not accept the 16. ARare & fHd wd o, el B Fd
suzerainty of the Mughals? FHR el Pl N7
(A) Udai Singh (B) Ajeet Singh (A) 3T Rig (B) arsfiad Rig
(C) Rao Chandrasen  (P) Rao Amar Singh (YINCRCE-:E] (D) 319 3R g
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17. Sitaram Lalas was associated with - 17. AAR™ ATl BT T &l & —

(A) Rajasthani Dances (B) Rajasthani (A) ISR JAT A (B) ISIRRATHT AR D ]
Dictionary Kl

(C) Rajasthani Folk life (D) Rajasthani Folk (C) TSR AThoiiad (D) ITSRATT AT e
art A A

18. Who is the Kuldevi of Bhati dynasty of 18. SRAGR & 9T JIS[ae &I Geaadl i
Jaisalmer? g7
(A) Latiyal Mata (B) Tanotiya Mata (A) FIfearet #rar (B) g=Ifeam Hram
(C) Avari Mata (D) Swangiya Mata (C) 3raxy Hrar (D) @i Hrar

19. Who was the last official ruler of Princely state 19. 1 Ramaa & sifam iSdR® wd i
of Bundi? o7
(A) Maharao Raja Ram (B) Maharao Raja (A) HERTG XT6T XM (B) HERIT XISTT 981G

Singh Bahadur Singh RiE INE
(C) Maharao Raja (D) Maharao Raja (C) HERTT M1 IR (D) HERTE TSI §3a™
Raghubir Singh Ishwari Singh R INE

20. Where is Haridev Joshi Journalism and Mass 20. gRaq SR g=EIRAT Ud SFaR fagafaermer
Communication University located? Pal Rerd 87
(A) Banswara (B) Udaipur (A) greareT | (B) IgaPR H
(C) Jaipur (D) Alwar (C) SIgR ¥ (D) 3refeaR H

21. The main temple of which folk deity is situated 21. et W9 (Wellsl) H 59 ol <adT &1 &=
in Bengti village (Phalodi)? Afer Rerd 87
(A) Tallinath Ji (B) Hadbu Ji (A) TootrrerS! (B) gguil
(C) Pabu Ji (D) Mallinath Ji (C) Tresit (D) Hoo=TerSi

22. |n which district of Rajasthan the famous 22 {BgRI gg Silgs ORI & fbd el H
Gurudwara Buddha Johad is located? raferd 87
(A) Jaipur (B) Sri Ganganagar (A) STIYR (B) 8T IR
(C) Ajmer (D) Kota (C) 3o (D) ®rer

23. What is the name of the picture of Lok Devi 23. Nl g1, Tsd! B fda8 & 9 TR Bl AR
made by Bhils, on the wall of the house at the R g9 O dTel e <l & fF BT T Hal
time of girl’s marriage? SITdT 87 e,
(A) Tehnisha (B) Mandana (A) Tefen (B) HreAT E
(C) Phad (D) Bharadi (C) ws (D) WRTS!

24. The memorial of which of the following is built 24. frdlee g & UM R ‘Ured Ul @& U™
on the platform built near ‘Padan pol’, the first g9 IgN W 9 H A e WRE 9497 gal
gate of the Chittorgarh fort? g7
(A) Jaymal Rathore  (B) Patta Sisodiya (A) STIHe RIS (B) o Rysarfe
(C) Kalla Rathore (D) Rawat Bagh Singh (C) FoaT VMBI (D) <maq 9ma g
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25. Match the List—I with List—Il and select the right ~ 25- J&I—I BT Fel—Il | AA™ PITT oI = fay

choice with the help of code given below — Y e B FEar ¥ Fal f[ddbed gy —
List-I List—11 T Gelal

(a) Govind (i) Devmurti Prakaran (a) Mfd=< (i)é‘d‘ﬂﬁ'rf el
(b) Natha (ii) Dwar Deepika (b) =TT (i) gR ST
(c) Mandan (iii) Vastumanijari (c) HUSH (iii) Wﬁ
(d) Kumbha (iv) Sangeetraj (d) T (iv) TR
Code - fT —
(A) (a)-ii, (b)-iii, (c)-i, (d)-iv (A) (a)-ii, (b)-iii, (c)-i, (d)-iv
(B) (a)-iv, (b)-ii, (c)-iii, (d)-i E (B) (a)-iv, (b)-ii, (c)-iii, (d)-i
(C) (a)-iii, (b)-ii, (c)-i, (d)-iv (C) (a)-iii, (b)-ii, (c)-i, (d)-iv
(D) (a)-iii, (b)-ii, (c)-iv, (d)-i (D) (a)-iii, (b)-ii, (c)-iv, (d)-i

26. \Which musical instrument is used during the 26. AIH—PAT TIIRIIY Sl BT BS & AT o
recital of folktale ‘Devnarayaniji ki phad’? PIFT—T a1 I TIANT H -7 1T 87
(A) Manijira (B) Chang (A) HSIRT (B) =T
(C) Jantar (D) Khadtal (C) ST} (D) edret

27. The tradition of Rajasthan, in which folk drama 27. ISR $I 98 WAR], f9H gog @ IR &
is performed by the women of the house after WY T TN B de TR @) B[ eRT ol
zzieir?oms procession leaves the house, is - far Tl 2, e & —
(A) Swang (B) Khayal (A) mT (B) =Tt
(C) Tutiya (D) Rammat (C) cfean (D) v

28. \Which Sabha was founded by Swami Gopaldas 28. 9§ 1907 ¥, I H WH MUTAST A g |1
in Churu, in 1907? BT RJATIAT I 21?
(A) Bal Bharat Sabha  (B) Desh Hiteshini (A) 91T YIRT F49T (B) <1 feafyol s

Sabha (C) TRAHIRON T (D) WRIupIRe wr

(C) sarvhitkarini Sabha (D) Paropkarini Sabha

29. Who was famous as poet and painter Nagari 29. $Hfg vd fFdR ARG & w7 ¥ $iF gRig
Das? o7?
(A) Krishnadev (B) Raja Sawant Singh (A) oI (B) 31T AT Rig
(C) Vrindavandas (D) Rana Kumbha (C) g=raiq™ (D) RO HIAT

30. jaydayal Soni and Chetram are related to - 30. ST AT 3R AR ST § —
(A) Turra Kalangi (B) Jaipuri Khayal (A) TRT BTl @I ¥ (B) TG &ITdl |

Khayal ; 5

(9] SheZhawati Khayal (D) Hela Khayal (©) WIS H (D) Fefl et W

31. With which art is Kripal Singh Shekhawat 3. puyre RiE TEEd &1 G 6 FHar
related? g7
(A) Thewa Art (B) Kundan Art (A) 21 B (B) = defl
(C) Terracotta (D) Blue Pottery (C) <RTPIeT (D) & dic
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32. which of the following (Battle - Year) is not 32 f=foiRed % & &9 AT (g — av) |EI FHford
correctly matched? el 87
(A) Battle of Khatoli- (B) Battle of Khanwa - (A) Trclell &1 gg —  (B) WAl &1 g§ —
1517 1527 1517 1527
(C) Battle of Sammel - (D) Battle of Harmada (C) e &1 g — (D) SHIST &1 I§ —
1562 - 1557 1562 1557
33. From which of the following archaeological 33. fe=ferRad # 9 | qRIaTicad I ¥, AT
sites, the coins of the Greek ruler Menander SITH WS Pl tl;“q I g—g 2°
have been found? (A) ST (B) TorTaR
(A) Balathal (B) Ganeshwar
(©) Bairath (D) Ahad (©) & (P} sl
34. Who is the writer of ‘Futuhat—I—Alamgiri’? 34. "HIEA—U—3Me NI & oRgd DI &7
(A) Firoz Shah Tughlaq (B) Ishwardas Nagar (A) TR 28 et (B) S¥aRar™ AR
(C) Aurangzeb (D) Dara Shikoh (C) 3RO (D) T R¥rprlE
35. Who was the founder of the Rajasthan School 35. IR Whal S ATCH D RAYAT e
of Arts? DI
(A) Sawai Jai Singh (B) Maharaja Sawai (A) Targ v Rig (B) HERIST Wdls X9
Ram Singh II IGES]
(C) Man Singh | (D) Mirza Raja Jai Singh (C) ARz | (D) At <ot o1 Rig
36. The south-west monsoon starts retreating ~ 36- USIIg & HGTHI gellobl | AFYA YIS B+ Tl
from Punjab plains by - g -
(A) Mid-July (B) Mid-October (A) H‘EI!I—\_{LFI'IT% | (B) Heg—3Tdcar e
(C) Mid-September (D) December (C) weg—fRydar # (D) fedaR o
37. The Prime Meridian of India do not pass 37. YR &1 Y <R EfalRad § 9 fod
through which of the following state? I A AR NS g7
(A) Uttar Pradesh (B) Madhya Pradesh (A) STRUCTT (B) HeameeT
(C) Chhattisgarh (D) Tamil Nadu (C) wilaTe (D) qffreterg
38. Which one of the following is not matched 38. fyfoikad § W @l @El gAford g
correctly? g7
(A) Mango Showers - Tamil Nadu (A) H e — dfferrg .
(B) Cherry Blossom - Karnataka (B) =R <ATH — PHHAICH E
(C) Nor’'westers - West Bengal (C) Afdved — ufdes 9w
(D) Bardoli Chheerha - Kerala (D) IREII BIST — DR
39. The Iron Steel Industry centre located near 39. P &5 B U Rd oilg ST SN g
coalfields is - g -
(A) Bhadrawati (B) Bokaro (A) HgTad (B) SIHRI
(C) Jamshedpur (D) Salem (C) SFRIGYR (D) e\
40. Which among the following (Crop — Producing 40. fr g § 9 HH-W1 (Fel — IATEH ) &l
State) is not correctly matched? gAferd el 87
(A) Rice - West Bengal (B) Wheat - Uttar (A) graet — qfe=s (B) g — STRUGY
Pradesh CRIK]
(C) Tea - Gujarat (D) Jute - Assam (C) Trg — TSRIT (D) S[e — |
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41. The Kailash Range is part of - A, B siEen e 8 —
(A) The Great (B) The Lesser (A) Hg1= 241 &1 (B) ofy f2HTerd ol
Himalaya Himalaya L
(C) The Shivalik (D) The Trans- E (C) Rrarferd &1 (D) gra—f2Hrera &1
Himalaya
42. The Clouded Leopard National Park, is situated 42. gfie gan IS S, 9 5 Iy
in which of the following state? H Rera 87
(A) Madhya Pradesh  (B) Tripura (A) Fequ<er (B) g1
(C) Assam (D) Himachal Pradesh (C) 3™ (D) oAt Uaer
43. The Sundari and Mangrove tree are found in - 43. g=dr SR HUIT g&T Ur O § —
(A) Semi desert forests (B) Tidal forests (A) 3rg g=b 9 §  (B) SORg o1 A
(C) Tropical evergreen (D) Monsoon forests (C) ST Hfca=iy (D) AT I+l |
forests HerdeR 9491 |
44. Balaghat, Chhindwara and Jhabua districts of 4. AySY & qremdre, fegarer iR SgeT et
Madhya Pradesh are known for the production fr=feRad % 9 fb| @i & Ire gg oI
of which of the following minerals? S 87
(A) Copper (B) Manganese (A) dfar (B) H+ioT
(C) Mica (D) Bauxite (C) a19® (D) dfATSC
45. Which one of the following (Lake — State) is not 45. fr=afaRad § 9 o |1 (Sl — ) gAford
correctly matched? el 87
(A) Lonar - (B) Chilka - Odisha (A) MR — 98RTe (B) foredr — affsem
Maharashtra (C) Yefihe — dAfed (D) HiAdTer —
(C) Pulicat - Karnataka (D) Bhimtal -
Uttarakhand
46. \What is the decadal growth rate of population 46. STTOT 2011 & AR, ST H AT
in Rajasthan according to Census 2011? DI TYDIY Jhg &R FAT A?
(A) 32.97% (B) 28.44% (A) 32.97% (B) 28.44%
(C) 28.41% (D) 21.31% (C) 28.41% (D) 21.31%
47. Which one of the following (Lift Canal - 47. fa=ferRad 5 & o a1 (fode ex — arTfvad
Beneficiary Districts) is not matched correctly? %Iﬁ) ?j'ﬁl'%lﬁ el 77
(A) Kunwarsen - Ganganagar, Bikaner (A) HIRAT — TR, R
(B) Kumbharam Arya - Jaisalmer, Barmer (B) HRIRT R — SR, TSR
(C) Dr. Karni - Bikaner, Jodhpur (C) €. Rl — bR, SIRIYR
(D) Jai Narayan Vyas - Jaisalmer, Jodhpur (D) 5i¥ AR T — SRR, STRIYR
48. \Which of the following sand dunes, develop in 48. frfalRad o & &9 ¥ aIgdT WU, vdford
the parallel direction to the prevailing wind? qq_ 31 9 & AM=R fAeRid 8 87
(A) Seif (B) Parabolic (A) 9% (B) IRraiferd
(C) Barkhan (D) Transverse (C) k@™ (D) 3rguer
49. The Kalaguman and Tikhi area is known for the 49 HTATAN AR TRAT &F .oooocooc SRIES]
production of - %ﬁ S ST 2 |
(A) Garnet (B) Emerald (A) e ® (B) o=~TT &
(C) calcite (D) Soapstone (C) dodTze & (D) €T TeR &
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50.

51.

52.

53.

54.

55.

56.

57.

Rajasthan’s only terrestrial Meteorite Impact

Crater (MIC) is located at -

(A) Ramgarh, Baran  (B) Ramgarh, Alwar

(C) Ramgarh, (D) Ramgarh, Sikar
Jhunjhunu

Which one of the following (Wildlife Sanctuary

- District) is not correctly matched?

(A) Sorsan - Baran (B) van Vihar -

Dholpur
(C) Band Baretha - (D) Kesarbagh -
Bharatpur Udaipur

According to Koppen’s classification, Jalore,

Sikar, Nagaur and Jhunjhunu are included in

which of the following climatic region?

(A) Bwhw (B) Bshw

(C) Bwkw (D) Bskw

Arrange the following Mountain peaks of

Rajasthan in descending order according to

their height -

(A) Sajjangarh — Lilagarh — Raghunathgarh —
Jarga

(B) Jarga — Raghunathgarh — Sajjangarh —
Lilagarh

(C) Jarga — Lilagarh — Sajjangarh —
Raghunathgarh

(D) Raghunathgarh —Jarga — Lilagarh —
Sajjangarh

Which one of the following districts has

received abnormal (60% higher than normal)

rainfall, during monsoon 20217

(A) Banswara (B) Sikar

(C) Churu (D) Barmer

The Alfisols soil is found in -

(A) Jaipur, Dausa, (B) Kota, Baran, Bundi
Alwar

(C) sirohi, Pali

Which of the following district holds the

maximum reserve forest area?

(A) Sirohi (B) Udaipur

(C) Karauli (D) Baran

‘Dohad Yellow’ is improved variety of which

crop?

(A) Sugarcane

(C) Wheat

(D) Jaisalmer, Barmer

(B) Gram
(D) Groundnut

50.

51.

52.

53.

54.

55.

56.

57.

GET IT ON
Google Play

TSR BT THATH WSl Sohlus UBR Hhex

(TramS ) Rerd & —

(A) Mg, IRT (B) YMTQ, 3TcTaN

(C) XIS, I (D) TG, ¥hY
frferRad § 9 &9 A1 (@oiia SRR —
fSrem) gHfera 8l 8?

(A) WRET — axi (B) 9 fBR — ey

(C) 571 9RaT — WRAYR (D) SR dTFT — ISAYR

PIUT D STTdrg GHDRT & ATAR, SR,
Ay, R AR gegf, Fr=rfeaRaa § & fow
STefarg Uael H Wi &7

(A) Bwhw (B) Bshw

(C) Bwkw (D) Bskw

oI @1 f=ferRaa gda aifeal &1 $ars
@ STTAR AR HH H FIRT BT —

(A) TSI — lTelliTg — NgARNG — SRAT

(B) SR — YANTG — HSOIIG — IS

(C) SR — ofTellTe — ASOTG — YYARNTG

(D) ARG — SRAT — Sellig — Fool 1S

AFRGA 2021 & SR, =1 | 9 fbg Rrel A
JAFY (AT ¥ 60% SITGT) a9 §8°?

(CVEIREIS (B) v -
©) I (D) 9re™R E
e &l Uil \IH § —

(A) SRIQR, ST, 37eTdR (B) pieT, IR, §al |
H

(C) RRIE!, grel # (D) SIAeTR, dTSwR H

f=falRad § & few a1 § ifdieas smRféda

T & 87

(A) RIS (B) SR

(C) Trelt (D) 9T

28 Yol fhd BT B I fb 87
(A) =1 (B) =1

(©) % (D) ropeh)
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58. As per Census — 2011, in which districts the 58 GIFIUMI—2011 & AR, NORAM & fdbe
percentage of Scheduled Tribes in total ISKIEE:] Gﬂ?ﬂ%ﬁ ST w1 oter @) Byl
population is found least in Rajasthan? STERE B gferd a9y BF graT AT 27
(A) Bikaner and Ajmer (B) Nagaur and Churu (A) BTR 3R SRR (B) AR iR 7
(C) Bikaner and (D) Churu and _

Nagaur Ganganagar (C) TR SR AFR (D) T% 3R TR

59. Which one of the following districts, is the 59. fq=foRag & 9 &9 a1 STaT, R &1
largest producer of feldspar in Rajasthan? JATHTH HARTIR SUTED 87
(A) Ajmer (B) Nagaur (A) 3SR (B) ATR
(C) Pali (D) Rajsamand (C) ureh (D) RToTAHS

60. \Which one of the following rivers is an example 60. fforRaa Afedl § 9 B9 ARG T BT
of superimposed river? JETERT 27
(A) Ghaggar (B) Mahi (A) g7 (B) #rE
(C) Banas (D) Jakham (C) 9919 (D) SIregH

61. Read the statements carefully - 61. FHoel PI eaFYdd Ufey —

I. The Advocate General Office of Rajasthan |. ISR DT FEIEGHRAT BT, 15T IS
came into existence on the formation of the JAAFTH 1956 & IITAR, R[GRAT [T &
State of Rajasthan as per the Teq IR 31Rdc
State Reorganisation Act, 1956. H 3maT|

Il. G.C. Kasliwal became the first Advocate Il ST, BRI ORI g & UH

General for the State of Rajasthan. ERIECESIICE ]

Which of the following option is correct? = #§ 9 ®99a1 fdden dgr 87

(A) Only statement | is correct T (A) Tadt B | 92! B

(B) Only statement Il is correct h (B) act Ho= |1 98l &

(C) Both statements | and Il are correct (©) 1 g neHEl ®U9 Ha &

(D) Both statements | and Il are incorrect (D) | g 1SEl HUF Tod &

62. For how many months can a person remain a 62. o AU BT e X2 f9AT, B
Minister in Rajasthan, without being a member afdd fha qeq dd o H #3 Ug W
of the Rajasthan Legislative Assembly? I8 AdhdT &7
(A) 3 months (B) 4 months (A) T A2 (B) IR wE™
(C) 6 months (D) 12 months (C) & 7B (D) 9RE #EM

63. Which one is not correct about the Emergency 63. JMUTAPHT Ul @ aR § 7 # | D=
Provisions? BT A T8l B°
(A) Under Article 352, Emergency can be (A) 3192555 352 & dBd, JAMUBIA AFHS B

announced only on written advice by the folRad wgafd & MR WX B dRT ST
Cabinet. AHT & |

(B) President rule can be imposed in any state (B) 3regufar e faedt =01 H erfdrpaw 3 auf

for maximum 3 years. dd I X Hhdl =

(C) President rule has been imposed in (C) IrgUfey AT IO T H 4 IR ]

Rajasthan state 4 times. &7 |
(D) The term ‘Armed rebellion’ was inserted (D) 423 weieM gRT WA § <R ReE
into the Constitution by the 42"
¥ el T |
Amendment.
131B ¢ Page 9 of 24
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65.

66.

67.

68.

69.

70.

71.

= |V

What is the new name of ‘Atal Seva Kendra’?

(A) Jan Suvidha Kendra (B) Gram Suvidha
Kendra

(C) Gram Vikas Kendra (D) Rajiv Gandhi Seva
Kendra

At present the number of Judges in the
Rajasthan High Court is -

(A) 30 (B) 40

(C) 50 (D) 60

Rajasthan Government has increased the MLA
fund for the Financial Year 2021-22, under the
MLA Local Area Development Scheme upto -
(A) X 3 Crore (B) X 4 Crore

(C) X 5 Crore (D) ¥ 10 Crore

Before becoming the Chief Justice of the

Rajasthan High Court, Justice Pankaj Mithal

was the Chief Justice of -

(A) Patna High Court (B) Madras High Court

(C) Gujarat High Court (D) Jammu and
Kashmir High Court

Choose the wrong pair (State Name - Number
of Members of Legislative Assembly) from the
following —

(A) Manipur - 60 (B) Meghalaya - 50

(C) Mizoram - 40 (D) Sikkim - 32

Which of the following statement is incorrect?

(A) Part VI of the Constitution contains Article
152 to Article 237.

(B) Part VI mainly focuses on the State
Government.

(C) Part VI is further divided into six chapters.

(D) Part VII of the Constitution deals with the
Union territory.

Which Article provides a Uniform Civil Code for

the citizens?

(A) Article 42 (B) Article 44

(C) Article 43 (D) Article 45

When was the Wealth Tax first introduced in

India?

(A) 1991

(C) 1976

(B) 1948
(D) 1957

64.

65.

66.

67.

68.

69.

70.

71.

GET IT ON
Google Play

‘e VAT b’ bl TIT A Fr eI
87

(A) 51 gfdem o= (B) U9 gfaer ox
(C) y¥ fdwr = (D) <ToiIg TRl ar
B

qaqE H ORI ST el § =g
(B) 40

P AT B — .
E
(D) 60

(A) 30
(C) 50

ISR WRAR  faeae &3 faer Jior
H 2021-22 @ for, foumas T 9erar o &
3

(A) 3axIS T (B) 4 s T

C saRs (D) 10H3rs %
ORI Jed <A1 & R IR g9+
A U, ReA Udd fRud wEf & g
SIS 97

(A) geAT I=d T (B) Ag IS AT

(C) ToRIT S (D) STH—H TR I
=TT AT
frfalad & TTefd W (9 &1 FH —

=T FeRIT @1 6= B gy —

(A) |OTgR - 60 (B) HETETT - 50

(C) fAsiRe - 40 (D) fufdma - 32

7T o 4 DI U Tead 27

(A) GfIETT & 9RT VI, 2688 152 W 3BT
237 ofiet 2|

(B) 91T VI &I U W ST IR W Diad
g

(C) W7 VI ©: 3l # fovaa 2|

(D) ¥TT VIl Ssenfyd US| Hefdd 2|

DI e ANTRSD! & forg e || fifde

HfRAT BT U B 22

(A) Irfess 42 (B) 3rfessa 44

(C) areuT 43 (D) areue 45

IRd H Ugell IR FaRl &) &9 U fhar ar

oqr?

(A) 1991

(C) 1976

(B) 1948
(D) 1957

131B AN

Page 10 of 24


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

72.

73.

74.

75.

76.

77.

The base year for the current series of National

Income Accounting -

(A) CSO has changed from 2004-05 to 2011-12

(B) CSO has changed from 2005-06 to 2011-12

(C) RBI has changed from 1999-2000 to 2004-
05

(D) RBI has changed from 2004-05 to 2011-12

The core concept of the Eleventh Five Year Plan

was -

(A) Growth with social justice and equality

(B) Human resource development

(C) Human well being

(D) Faster and more inclusive growth

Which of the following is a most likely

consequence of implementing the ‘Unified

Payments Interface (UPI)’?

(A) FDI inflows will drastically increase.

(B) Mobile wallets will not be necessary for
online payments.

(C) Direct transfer of subsidies to poor people
will become very effective.

(D) Digital currency will totally replace the
physical currency in about two decades.

Inequality of Income can be measured by —

(i) Lorenz Curve

(ii) Gini Coefficient

(iii) Poverty Line

(iv) Relative Poverty

Choose the correct option -

(A) only (i) (B) only (i), (i) and (iii)

(C) only (i), (ii) and (iv) (D) only (ii), (iii) and (iv)

Yellow revolution is not related to which of the

following?
(A) Sesame (B) Mustard
(C) Gram (D) Edible oil

Which one of the following state is the first
state to impose Agricultural Income Tax in
India?

(A) Madhya Pradesh
(C) West Bengal

(B) Maharashtra
(D) Bihar

72.

73.

74.

75.

76.

77.

GET IT ON
Google Play

TSI 3T oIGT BT I AT MR ay —

(A) HTF3M. 7 2004-05 T dEABI 2011-12
P fear 8

(B) 1T, 7 2005-06 ¥ dEABI 2011-12
P fear 8

(C) JIRAT3MES. ¥ 1999-2000 H IEABR 2004-
05 &~ fear g

(D) JrRAT3MS. 7 2004-05 W dEABY 2011-12
P} fear g

RSN AU IS B HA AR

off

(A) T =1 IR AT & 91T fahrg

(B) A9 o fadra

(C) 9191q HelTS

(D) T =R erfers wHTash fasra

FrfaRad § | B Taoldd A §b4

GQUIIE.) & AN BT B F9H  FAIAd

R 87

(A) T S1.amE. yaTE # W gfy &l

(B) 3iFelsd YA & forg Aagel dfele @l
TR el BT |

(C) TRIdl ®I AfSAS! BT T TR T8
PRI BN |

(D) ST <1 gerehl W fefoieet ga1 gl ake A
HIfcrep HaT BT ST of ol |

AT a% STHHTACI ?ﬁf HIYUT ST Hhdl % —
(i) IR~T dh

(i) R [oTieh an

(iii) ITRET @ E

(iv) ATUeT TR

|El fAwed g+ —

(A) Bad (i) (B) wadt (i), (ii) 3R (iii)

(C) @aat (i), (i) 3R (iv) (B) waa (ii), (iii) MR
(iv)

1 4 9 qiel wifd feaw gwfa F8f

g7

(A) faet (B) wxai

(C) 7= (D) @Ter I

frfoRad 4 |9 &F |1 59 YR H BN

JATI DX T dlell Ygell XTI %\'?

(A) FeqU<er (B) AERTE

(C) uf¥=® d7Tat (D) f98R
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78. \Which of the following taxes fall under the
State List of Indian Constitution?
(i) Stamp Duty
(ii) Custom Duty
(iii) Luxury Tax
(iv) Entertainment Tax
Select the answer using the code given below -
(A) (iii) and (iv) (B) (i), (ii) and (iii)
(©) (i) and (iv) (D) (ii), (i) and (iv)
79. Which one of the following is not considered to
be the three phases of e-commerce?
(A) Reinvention (B) Preservation
(C) Globalization (D) Commercialization
80. The 15"  Finance  Commission  has
recommended that the vertical share of the
states be kept at -
(C) 40% from 2018-19 to 2022-23
(D) 43% from 2017-18 to 2021-22

(A) 41% from 2021-22 to 2025-26
(B) 42% from 2020-21 to 2024-25

81. National Food Security Mission (NFSM) on wheat
and pulses was launched in Rajasthan in the

year -
(A) 2006 - 07 (B) 2007 - 08
(C) 2008 - 09 (D) 2009 -10

82. Match the following and select the correct
answer from the code given below —
List -1
Industry
(1) Rajasthan State Chemical Works
(2) Hitech Glass Factory
(3) Mewar Sugar Mill
(4) J.K. Cement Works
List =1l
Place
(i) Didwana
(ii) Dholpur
(iii) Bhupalsagar
(iv) Nimbahera
Code -
(A) 1 - (ii), 2 - (i), 3 - (iii), 4 - (iv)
(B) 1 - (iv), 2 - (iii), 3 - (ii), 4 - (i)
(C) 1-(i), 2 - (ii), 3 - (iii), 4 - (iv)
(D) 1 - (iv), 2 - (ii), 3 - (i), 4 - (iii)

79.

80.

81.

82.

GET IT ON
Google Play

FEfoIRad # | DI A1 BR AR Gl Bl
ST Al & SIa T 82

9 Ry Mg B A WA ST B GG
BIFTY —

(A) (jii) MR (iv) (B) (i), (ii) 3T (i)

(C) (i) 3R (iv) (D) (ii), (iii) 37X (iv)
fr=forRad & 9 59 §—prad & 19 =RoT F81
T ST 27

(A) gerfoT (B) f=eror

(C) Y—HScATRT (D) FTaARITDHROT

154 fa=T ST = RywiRer @1 & & wai &1
Ifidpel feRITRT —

(A) 2021-22 ¥ 2025-26 T&H 41% JEI SV

(B) 2020-21 ¥ 2024-25 TH 42% &I Y

(C) 2018-19 ¥ 2022-23 TH 40% EI SV

(D) 2017-18 ¥ 2021-22 T& 43% ET Y

g Ud qofed W IS Wl gRem fAwE
(TH.UB.TA.UA.) ORI # 6 a8 UR™T fdha
T
(A) 2006 — 07 # (B) 2007 — 08 #
(C) 2008 - 09 # (D) 2009 — 10 #
fr=feRad &1 grferd dIfoy dem =i g 7y
®C H W el SR gy —
= — |
SET
(1) NTORYE e Bfide I
(2) BSCH TN Bde
(3) HaTe YR e
(4) OB, AHvE qa
I —
R
(i) Srearm
(ii) €reTgR
(iif) TR
(iv) foeaTgsT
@ —
(A) 1 -(ii), 2 - (i), 3 - (iii), 4 - (iv)
(B) 1 - (iv), 2 - (iii), 3 - (ii), 4 - (i)
(C) 1- (i), 2 - (i), 3 - (iii), 4 - (iv)
(D) 1-(iv), 2 - (i), 3 - (i), 4 - (iii)
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83.

84.

85.

86.

87.

88.

89.

Rajasthan Jan-Aadhaar Authority Act, 2020 has

come into effect from -

(A) 18t December,
2019

(C) 7t May, 2020

(B) 3 March, 2020

(D) 31t December,
2020

The correct pair of major mustard producing

districts of Rajasthan is -

(A) Ajmer —Nagaur  (B) Bikaner — Jaisalmer

(D) Karauli — Sawai
Madhopur

(C) Alwar —Jaipur

The percentage share of Agriculture in Gross
State Value Added at constant (2011 — 12)
prices of Rajasthan for the year 2021 - 22
(Advance estimates) is -

(A) 26.14% (B) 30.45%

(C) 26.34% (D) 28.85%

In the ‘Jal Jeevan Mission Scheme’, the fund
sharing pattern of the centre and the state
respectively for Rajasthan is -

(A) 75:25 (B) 50:50

(C) 25:75 (D) 80:20

In which year, Rajasthan’s first Handicraft
Policy released?

(A) 2019 (B) 2018

(C) 2022 (D) 2021

As per the Industrial Park Rating System (IPRS)

Report 2.0, how many parks from Rajasthan

are rated as ‘Leader’?

(A) 11 (B) 14

(C) 17 (D) 20

Which one of the following (Irrigation Project —

District) is not correctly matched?

(B) Mansi Wakal —
Dungarpur

(C) Orai - Chittorgarh (D) Gudha — Bundi

(A) Panchna — Karauli

83.

84.

85.

86.

87.

88.

89.

GET IT ON
Google Play
SR STH—3MHR UTfhRor S7fSIf9, 2020

THTdT 3T © —
(A) 18 fawwR, 2019 W (B) 391, 2020

(C) 793, 2020 & (D) 31 fowwR, 2020 &

ORI H U R4 S1edh [STell BT el

THE -

(A) OPR — AR (B) fIHTR — SR

(C) 3Tk — SR (D) Il — HaTg
HTGR

AR & Fhd I oI ded H JER
(2011 — 12) Al TR 99 2021 -22 § (@RM
3FA)

(A) 26.14% (B) 30.45%

(C) 26.34% (D) 28.85%

IoReE & for S Sftaw e aoEr #,
Bes TAT ST B FTSARIAT HAT: & —

(A) 75:25 (B) 50:50

(C) 25:75 (D) 80:20

fhg ad & ORI &1 Ugell swIfeed HIfa

SINY &1 87
(A) 2019 (B) 2018
(C) 2022 (D) 2021

sesReua e ST Req (IPRS) RUld 2.0
ITAR, SR H fda Ul bl e’ &

9 # Tt fear T 8

(A) 11 (B) 14 E

(C) 17 (D) 20

frafaled & @ o R aRaesr —

fSrem) gHfera &1 272

(A) gigem — HIetl (B) HIFI dTdhel —
SRER

(C) 3iR1g — fIrdiree (D) T — &l
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91.

92.

93.

94.

95.
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RIICO has developed four Agro Food Parks
at—

(A) Bikaner, Jaisalmer, Kota, Dausa

(B) Dholpur, Alwar, Barmer, Ajmer

(C) Jodhpur, Kota, Alwar, Sri Ganganagar

(D) Ajmer, Kota, Jodhpur, Jaipur

Gadkari

inaugurated and laid the foundation stone of 6

Union Transport Minister Nitin

national highway projects worth 119 km worth
< 2300 crore in which state?

(A) Madhya Pradesh  (B) Rajasthan

(C) Assam (D) uttarakhand
Union Minister Mukhtar Abbas Nagqvi
inaugurated the 5% Global Film Tourism

Conclave (GFTC) in which city in July 20227
(A) Gujarat (B) Bangalore
(C) Mumbai (D) Jaipur

Which of the following countries is elected as

non-permanent member in the UN Security

is the Chairman of Sixth Finance

Council (UNSC), for the year 2022-23?

(A) Ethiopia (B) Pakistan

(C) India (D) Gabon

Who

Commission of Rajasthan?

(A) K.K. Goyal (B) Dr. Jyoti Kiran

(C) Pradhyuman Singh (D) Manik Chand
Surana

In the Budget 2021-22 of Rajasthan, up to what

amount interest free loan was announced

Indira Gandhi Urban Credit Card

Scheme?

(A) % 20 thousand

(C) T 70 thousand

under

(B) ¥ 50 thousand
(D) T 1 Iakh

90.

91.

92.

93.

94.

95.

GET IT ON
Google Play
b gRT IR T B8 Urd fasfad fdy 1w

g -

(A) fTHR, SNFTHN, DicT, T H

(B) gleTYR, 3fcaR, dTSHR, 3OTHR )

(C) SRIYR, P, JNAdR, SR #

(D) 31STR, PIel, YR, SIYR H

Bg uRags #3 fAftH Tea 7 o =
H 2300 HRIS TH 119 fhAHIER & 6 T
RIS IRATSIRT HT Sgere IR Riaram
fapar?

(A) FeIuQeT
(C) 3rH

(B) ITSTRRITH
(D) ITRIgvs

da1g HAl &R A Thdl o fbq orer 4
Jllg 2022 @I UEd Tollgd fhew SRSH
Pided (GFTC) BT Igared fadar?

(B) TR

(D) STIqR

gy 2022-23 % forg, FrAfalRad § | S99 Q9
Dl GYF I YRET URYE  (JuAddn) |
IRl We & WU H fHaifad fdar T 22

(A) gfernfuan (B) Urfeher

(C) R (ORICIE]

RORIE & ©o o<l SN & 3fedel did
27

(A) . TR (B) Sf. s favor

(C) ug= g (D) #If<eh F=a FRI0TI

JIORE & gofe 2021-22 ¥, SfexT el wrexy
Piec B Al 4 ol IR T aTel Jad
FEOT IUAL] BRAT DI BT BT T 7

(A) 208R X (B) 50 8IR X

(C) 7089k T (D) 1 g X
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99.

100.

101.
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The objective of the ‘Captive Animal 96.
Sponsorship Scheme’ is-
(A) Adoption of cows in gaushala to the general
public, institution etc.
(B) Adoption of wildlife of biological parks to
the general public, institution etc.
(C) Adoption of the wildlife of the sanctuary to
the general public, institution etc.
(D) Adoption of the birds of birdhouse to the
general public, institution etc.
In the travel list of Planet D ‘The 16 Most 97.
Romantic Cities on Earth’, which city of
Rajasthan has been included in 20227
(A) Dungarpur (B) Jaipur
(C) udaipur (D) Jaisalmer
In  which city, DRDO launched testing 98.
evaluation facility on Sonar System of Indian
Navy?
(A) Vizag (B) Port Blair
(C) Kochi (D) Thiruvananthapuram
Who among the following of Rajasthan has 99.
been honoured with the Pradhan Mantri
Rashtriya Bal Puraskar in January, 2022?
(A) Kiran Sharma (B) Gauri Maheshwari
(C) Deepika Gupta (D) Namita Singh
What was the name of the cyclonic storm that 100.
came in Bay of Bengal, in May 20227
(A) Tauktae (B) Gulab
(C) Asani (D) Fani
101.

In a file system, a(n) defines a path

from the current directory.

(A) Root directory
(C) Virtual path name (D) Absolute path
name

(B) Relative path name

GET IT ON
Dficd TIHT WRRRMU DA & I
3
(A) TT2TAT | TN BT SO, AT (S Bl
M < |
(B) Sifad &=l & d=uoild Bl A, eIl
anfe &I M <7

(C) 3PIRTY & =Ioild Bl IJTHSIH, IRAT 3T
BT Mg <7

(D) wefemeT & Ulerdl &l A, el 3nfe
BT ME <l |

e S B IET Al ] 16 ARE IHifeH

SIS ol o’ #H, JoRUM & B9 e Bl

2022 ¥ wnfer far T 87

M TR CEC

(C) ST (D) SR

STARLRM. T ARAT AT # AR Yol &

fore o weaipe ghaem fha weR ¥ e

forar?

(A) TS (B) UI¢ <RR

(©) Pifa (D) Ry

ORI &1 FfeiRad § 9 & Sad, 2022

H UETHA I 9T [REPR | R

T 2?

(A) o7 3™ (B) TR ATZaNT

(C) iftrepT [ (D) e Rig

HS 2022 H, IS B WISl H 1 Fshardl qHT

T ATH FT AT?

(A) AT (B) T[era

(C) 3Tt (D) w1

U% HIsd e #, .. ERLIGREENCaN]
9T BT YRHIT &xar 2 |

(A) FT SRREL (B) Retfea gt =4
(C) adaret urer #9 (D) TeAIYE Ut =i

131B AN

Page 15 of 24


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

102. A set of rules that govern all aspects of

GET IT ON
Google Play

102. e HoR & A1 Usqgall 1 BT & &

information communication is called - forr Al &1 g dEa © —
(A) Server (B) Internet (A) gd= (B) g<xic
(C) Protocol (D) 0OSI model (C) Uretdiar (D) 0S| Hieat
103. print quality of printer is given in ............ and  103. fier @1 fUT TOMEAT BT H
printing speed is given in .................. e o T BT o H AT STt 2

(A) Pages Per Minute (PPM), Dots Per Inch
(DPI)

(B) Chromatic Number (CN), Rotations Per
Minute (RDM)

(C) Dots Per Inch (DPI), Pages Per Minute

(A) oS ™ faFe (PPM), Sfcd &R 34 (DPI)
(B) spfed Hav (CN), e R fB9e (RPM)

(C) Sfc wR g4 (DPI), UfoTT WR fA9e (PPM)

(PPM)
(D) Dots Per Inch (DPI), Rotations Per Minute (D) Sfew R 9 (DPI), I W S (RPM)
(RPM)

104. \While working with MS-Word, which option is

not available in file menu?
(A) Print preview (B) save

(C) Header & Footer (D) Save as

105. |5 computer spreadsheet, which is true if
current or active cell is B4 and you pressed
Enter key?

(A) You will be inthe (B) You will be in the

104.

105.

THA T, 98 & A1 B HRd FHT BT f[dded
B A=) H Ul T8l BT 27

A fre fig (B) ¥a

(C) fR TS X (D) g T

U HRex Bredfie # a1 el ® Il adae
g Ifhd A B4 8 IR IMUH Uex &) TdTs
27?

(A) 3y et A1H BT (B) 319 AeT BS H BRI

cell Al cell B5S
(C) You will beinthe (D) You will be in the (C) 31U AT B3 H B (D) 319 AT B6 H BT
cell B3 cell B6

106. Ethylene glycol is used -

(A) as food preservatives
(B) in making punctures of tubeless tyres
(C) in detergent manufacturing

(D) as antifreeze

106.

SATGEA TATSDIe BT YANT fhar Sar & —
(A) @l IRReTdl & wa H

(B) TIYF TRRI & UAR AT H

(C) feezore fmfor #

(D) yfafed (T=<IpIer) & U §

107. Which acid is present in Nettle sting? 107. fqog € H DIF4T 3%l UTAT ST &7
(A) Tartaric acid (B) Oxalic acid (A) TeRe 3T (B) 2fradTieldh 3%
(C) Lactic acid (D) Methanoic acid (C) ifdedr 3%t (D) 9AIg®H 3T
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108

109.

110.

111.

112.

113.

= |V

* A sample of 0.1g of water at 100°C and normal
pressure (1.013 x 10° Nm2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167.1 cc, the
change in internal energy of the sample is -

(A) 42.2 joule (B) 84.5 joule
(C) 208.7 joule (D) 104.3 joule

Immunosuppressants such as.............. , prevent
transplanted organs from being rejected in
recipients.

(A) Cyclosporine
(C) Thrombin

(B) Calcitonin

(D) Aspirin

Name the only combat ready fifth-generation
fighter -

(A) Lockheed Martin F-22 Raptor

(B) Sukhoi PAK FA

(C) Chengdu J-20

(D) Lockheed Martin American F-35 Lightning Il

In the following reaction, identify the salt
formed —
NH4OH (aq) + H2S04(ag)— .cvvvvevveeene. + 2H,0(l)

(A) (NHa)2S (B) (NH4)3S04
(C) NH4NO3 (D) (NH4)2S04

Match List — | with List — Il and select the correct
answer using the code given —
List — |
(1) Natural polymers
(2) Thermosetting polymers
(3) Protein
(4) Thermoplastic polymers
List—1I
(a) Bakelite
(b) Polymer of amino acids
(c) P.V.C.
(d) Starch and cellulose
Code -
(A) 1-d, 2-b, 3-a, 4-c
(C) 1-d, 2-b, 3-c, 4-a

(B) 1-d, 2-3, 3-b, 4-c
(D) 1-a, 2-b, 3-c, 4-d

Common bacteria used is genetic engineering
is -

(A) E. Coli

(C) Rhizobium

(B) Spirillum
(D) Diplococcus

108.

109.

110.

111.

112.

113.

GET IT ON
Google Play

100°C 3R YT ad (1.013 x 105 Nm2) &R
0.1 U™ Ul & T B 100°C UR A9 H gl
P foIU 54 HART ST Foll BT JATTIIHAT Il
2| gfe Srfed Wi &7 Sya= 167.1cc @,
T B AARD Sooll # IRacH & —

(A) 42.2 5 (B) 84.5 [
(C) 208.7 5[ (D) 104.3 S
SRIARIIRIC oo gfeRIfUd il
DI YTIHdRl § SRAIGT 89 A Adhd & |

(A) AIZFARAIR (B) dedIeI=HA

(C) oifigs (D) TRaR=

g & fory AR dfadt N &1 gaHas aeid
3

(A) ciipels #fdA F-22 ¥R v

(B) guIs PAK FA E

(C) =TS J-20

(D) dimers Wfcd JMR& F-35 eSS i

f=faRaa oiffshar &, g9 dret ofaur @

g DI —

NH4OH (aq) + H2S04(ag)— .ceoveureneee. + 2H,0(l)

(A) (NH4)2S (B) (NH4)3S04

(C) NH4NO; (D) (NH4)2S04

A — | B g — 119 fe= Iy 9 fag 1y

BHE BT YAN BRD Fal IR BT FIT BIIY —
I — |

(1) WTPfd TgAD

(2) dMUgE dgeid
(3) U=

(4) AUGHCT I8l
5 - I
(a) ez
(b) 3T AT BT dgAD
(c) drdr.
(d) TH Td A
a?:\_c/" —
(A) 1-d, 2-b, 3-a,4-c  (B) 1-d, 2-a, 3-b, 4-c
(C) 1-d, 2-b, 3-c,4-a (D) 1-3, 2-b, 3-c, 4d
S SOFRINT 3 Ug<h B darell |ard

ST & —
(A) 3. BT (B) urgRe™
(C) Tz (D) Rcraraa
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114. Which of the following statement is true about

Ozone?

(A) Conversion of Ozone to oxygen is an
endothermic reaction.

(B) Ozone is a triatomic linear molecule.

(C) Ozone has two double bonds.

(D) Low level ozone (or tropospheric ozone) is
an atmospheric pollutant.

115. Which salt is used to remove the permanent

o TLS
(B) NaHCOs3 E

(D) CaS0s . 2H,0

hardness of water?
(A) caocl,

(C) NaCOs. 10 H,0

116. The population of a town is 6000. If the number
of males increase by 8% and the number of
females increase by 10%, the population will be
6500. Find the number of females in the town -

(A) 1000 (B) 1200
(C) 1100 (D) 1300

117. There are four numbers. Average of the first
three numbers is 15 and average of the last
three numbers is 16. If the last number is 19,
the first number is equal to -

(A) 14 (B) 15
(C) 16 (D) 17

118. |f ratio of area of two equilateral triangles is
36:25, then ratio of their perimeters will be -
(A) 6:5 (B) 12:5
(C) 25:16 (D) 36:25

119. Choose the water image of the given figure —

GET IT ON
Google Play

114. 59 & IR ¥ fA=faRad & 9 o a1 B
a9 g?
(A) IS I STRATSTT BT 0T Teh HEATIY)
gfehar 2 |
(B) MM U FoRAvads YR o] ¥ |
(C) 39 ¥ <7 fgaver 814 2 |
(D) 3ioiE T f 1 W) (A=) (A1 enAvselry
JAISAI) YAV TGS 2 |
115. g1 o1 WIE HoRAT B T A & oY fHa

TqoT BT SYART fHar Srar 87

(A) caocCl, (B) NaHCO3

(C) NaCOs. 10 H20 (D) CaS04. 2H,0

116. vg5 B &I TAA=T 6000 © | Ifa Gul B
AT H 8% Bl gig Bl § AR ATl @l
AT H 10% BT gig BIAT 8, AT STARIT 6500
B S| bed H AfeTsdl @ HwAr §d

3 -
(A) 1000 (B) 1200
(C) 1100 (D) 1300

1M7. R d@] & T8 g1 UPA a4 ARl &
3T 15 & 3R sifam O demei &1 ofd 16
2| afe 3ifo A 19 8, A1 UH ¥l ST
3
(A) 14 (B) 15
(C) 16 (D) 17

118. 31 wwarg BSil & &Fhell &1 U 36:25
2, O 39& URHY &7 U &N —
(A) 6:5 (B) 12:5
(C) 25:16 (D) 36:25

119. {3y v =7 &1 Ul H ufdfdd g —

o e

(D)
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120.

121.

122.

123.

124,

125.

If9+7=58and 3+ 11=124,then 13 +5is

equal to -
(A) 38 (B) 65
(C) 31 (D) 36

At simple interest, an amount becomes I 1120
in 4 years and ¥ 1200 in 5 years. The principal
amount is equal to -

(A) T 800 (B) ¥ 850

(C) X 750 (D) ¥ 900

An amount ¥ 3550 is divided into X, Y and Z
such that three times of X’s share is equal to 5
times of Y’s share and 7 times of Z’s share. X’s
share is equal to -
(A) %1050
(C) ¥ 1750

(B) ¥ 750
(D) ¥ 1250

Which one of the following diagrams correctly
represents the relationship among Cricket
players, Tennis fans, Students?

(A) (B) @@
(€) @ (D) @D

Which answer figure follows the question
figure?

O A © ¢
me Al
M (2) 3) (4)
Answer figures —
(A) A (B) 0
{ @
(C) O (D) 0
A ®

Find the missing term in the following figure -
3C 2B 4A

27A 2 64B
9C 4A  16B
(A) 8B (B) 125C
(C) 8C (D) 125B

120

121.

122.

123.

124,

125.

GET IT ON
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?9+7=583ﬁ?3+1l=124,a#13+5w
(A) 38 (B) 65

(C) 31 (D) 36

TR &I TR Udh T 499 § 11203 3R 5
gy #H 1200 ¥ B ORI ©| ORI SRIER
3

(A) 800% (B) 850%

(C) 750% (D) 900%

& 7 35503, X, Y3IR z # 39 UaR fawrfora
P A B fb X & R BT AT AL Y B
R & U= [ iR z & R & 91d T @
TWIER B X BT 2T SRR 8 —

(A) 10503 (B) 750%

(C) 1750% (D) 1250 ¥

=1 ol § 9 @9 a1 o fhee Raanfsar,
< el iR faenfelat & = GsEn @r
e UPR W UelRfd $rar 87

(A) (B) @@
(C) @ (D) @D

DA TR AHA U P & 918

JITT?
@) A © ¢
me A
@ (2) ) 4)
IR AR —
(A) A (B) 0
® ®
(C) O (D) 0
A ®

=T o o o us 91 i —
3C 2B 4A

27A  ? 648 &
9C 4A 16B

(A) 8B (B) 125C

(C) 8C (D) 1258
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126. Anita is wife of Bhavesh and Chanchal is sister ~ 126- J¥IdT, WIS &1 il 9 Tadd, I I 84
of Anita. Dinesh is father of Chanchal, while 2| feqer T &1 fUdr 2 wafe e feqsr
Ramesh is son of Dinesh. How is Ramesh T I3 2| Y FT WA F R®T FET 22
related to Bhavesh?

(A) == (B) IR
(A) Uncle (B) Father—in—law

(C) ATeT (D) T8
(C) Brother—in—law (D) Brother

127. Five students A, B, C, D and E are sitting in a 127. i faemeft A, B, C, D 3IRE U Ufadd & 93 2 |
row. D is on the right of E. B is on the left of E D,E® TTS 3R B, B,E & a1 3R & Afdbd A
but is on the right of A. D is on the left of C. Who P S ;IR 81 D, C @& 91 3R B | 999 978
is sitting on the extreme left? IR B9 dT 87
(A) B (B) E E (A) B (B) E
€ c (D) A © c (D) A

128. \What will come in place of (-)? 128. (1) & 9 WX AT IUIT?
1,4,3,8,7,12,—, 16, 21 1,4,3,8,7,12,—, 16, 21
(A) 13 (B) 19 (A) 13 (B) 19
(C) 14 (D) 15 (C) 14 (D) 15

129. statement - A man must be wise to be a good 129 R — TP IMWT TSI a7 & oY T

wrangler. Good wranglers are JMEH Bl q 99 BT a1V | 3
talkative and boring. STSIC] Ellqﬁ 3R 39T B & |

Conclusions - |. All the wise persons are boring. ey — | 9 q S99 afdd 39T B & |
Il. All the wise persons are good |1 ) G FfHT e STSIe] Bl

wranglers. =

(A) Only conclusion Il follows (A) Dael =Py || SFHRVT PRl ©

(B) Only conclusion | follows (B) ael sy | SR PR B

(C) Neither I nor Il follow (C) 7 @1 | 3R =T & Il ATERT PRl B

(D) Both I and Il follows (D) | 3R 11 I AFERVT B ©

130. |n a certain code language, if the word ‘GOD’is ~ 130. fh¥fl o w1 H IC ‘GOD’ W& &I HE 78
coded as 78 and the word ‘GREAT’ is coded as AT ‘GREAT’ ¥ BT &L 255 2 dr v ‘GIFT
255, then how is the word ‘GIFT’ coded in that .

BT G I N7 H BT —
language?
(A) 212 (B) 194
(A) 212 (B) 194
(C) 182 (D) 168 (C) 182 (D) 168
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131.
132.
133.
134.
135.

136.
137.

138.

139.

140.

i favas Ad fAdey &1 a9 Sy —

(A) dr + geTor = qreror (B) Ty + Sfd = affea
(C) A + T = JAATT (D) &g + JUQY = HFI
I fddmed gAY —

(A) § — 313y, ©IY, 3aUToT (B) I — ATele, 3UUTYT, €Y
(C) ¥ — 3TequToT, i, orely (D) § — U, Wqd, gl
TSB! UTed gAY -1 fhaT 81 Saa ariel & forg 3o Uah ores gig —
(A) T (B) o

(C) ®aM (D) uRier

MG IR BT T DISTY —

(A) RT @R ST T | (B) 39 I WXI 3MY 40 Y % |
(C) TR g B A3 | (D) g H foreg Ad il |
PIT T HHIRY FH BT IEERVT 6l &7

(A) T (B) TR

(C) He=R (D) 3THA™

B & HoF BT Igd d I (69 M &g &1 wanT fear mar 22
(A) e fors (B) fowfedes fors

(C) yeard frs (D) sracRuT g

TR HT Tl BHT JETdN & 34 2 —

(A) = R e (B) f—ml fegen

(C) IF—r e (D) ¥H UaT PHR <

IRATA ey BT Tg= PRIy —

(A) 98 9R—IR AIGdT & | — Hlcarad [shaTaeryoy
(B) IM SR &R H 8| — IMAAS feharfaegor
(C) AT I Srechl 21— fcrarass fhanfaor
(D) a8 Imar iR H TaT| — HRomdG fohafaeiyor

GET IT ON
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Y& YRl BT FH § —

(A) A 9 AR (B) A T Afreferor

(©)  fassr= 9 HforieRoT (D)  fose T HIATRT

e fdmed # ‘Foarad’ |d-T9 &7 JART T8l g3l &7

(A)  # 3rg & Tl S| (B) U IO WMT G I ol & |
(C)  # I8 B 37U 3T PR [ | (D) MY Hed ar & 43 |
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Direction (141 to 143) : Read the passage carefully and answer the following questions —

There is no field of human endeavour that has been so misunderstood as health. While health which

connotes well- being and absence of illness has a low profile, it is illness representing the failure of

health which virtually monopolizes attention because of the fear of pain, disability and death.

Till recently, patients had implicit faith in their physician whom they loved and respected, not only for

his knowledge but also in the total belief that practitioners of this noble profession, guided by ethics,

always placed the patient’s interest above all other considerations. This rich interpersonal

relationship between the physician, patient and family has, barring a few exceptions, prevailed till the

recent past, for caring was considered as important as curing. Our indigenous system of medicine like

Ayurveda and Yoga have been more concerned with the promotion of the health of both the body

and mind and with maintaining a harmonious relationship not just with fellow-beings but with nature

itself, of which man is an integral part.

141. Choose the word which is most opposite in meaning of the word ‘concerned’ as used in the passage.

(A) indifferent

(C) solicitous

(B) anxious

(D) pertained

142. Choose the word which is most nearly the same in meaning to the word ‘connotes’ used in the

passage.

(A) liberates

(C) except

(B) unfollows

(D) implies

143. |n India traditionally the doctors were being guided mainly by which of the following?

(A) Power over patient
(C) High technology

144. Choose the correct English translation of the given sentence —

(B) Professional ethics

(D) Western concept of life

W a7 b AR U T SIS o WIS |
(A) My father got a pair of shoes for me yesterday.

(B) My father brought me a pair of shoes yesterday.

(C) My father bought me a pair of shoes yesterday.

(D) My father bring for me a pair of shoe yesterday.
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145. Choose the alternative which best expresses the meaning of the Idiom/Phrase “Steal someone’s
thunder” —

(A) To take credit for something which someone else did

(B) To steal the peace of mind by constant nagging

(C) A useless attempt

(D) To bring down a person who is acting smart

146. Gjve one word substitute for —

‘Bare minimum needed for survival’

(A) sustenance

(C) sustainable

(B) subsistence
(D) supplement

147. Choose the one which best expresses the meaning of the given word? (Effuse)
(A) Absorb

(C) Augment

148. Match the following —

(A) Sentences

(i) We will go to Calcutta by ..................

(ii) The child was happy to see

(iii) He has gone for

milk is good for health.

(A) (i)-(c), (ii)-(d), (iii)-(a), (iv)-(b)
(©) (i)-(d), (ii)-(c), (iii)-(a), (iv)-(b)

149. Choose the correct answer from the given options —

(B) Transfer
(D) Emanate

(B) Articles
Rajdhani Express. (a)a
..... aeroplane. (b) no article
.... holiday. (c) an

(d) the

(B) (i)-(d), (ii)-(a), (iii)-(b), (iv)-(c)
(B)(i)- (b), (ii)-(c), iii)- (d), (iv)-(a)

Why did they pull down the building? (Change the voice)

(A) Why had been the building pulled down?
(B) Why did the building been pulled down?

(C) Why is the building been pulled down?

(D) Why was the building pulled down?

150. Choose the correct answer from the given options —

Ravi said, “l will bring the book tomorrow.” (Change into Indirect Speech)

(A) Raviinformed that he would bring the book the next day.

(B) Ravi informed that he will bring the book tomorrow.

(C) Ravi informed that he would bring the book tomorrow.

(D) Ravi ordered that he would bring the book the next day.

131B AN

Page 23 of 24


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

Space for Rough Work / X% i o foQ SFTIE

IR gFG H & ufcrlf € — 7o ufd iR fgdiia ufa, odienm 9\iftd ©R wlie &et Bied 9 yd wRiemeff SR
UG & QM Uil detd bl A, qRiemedl W fgd Uit B e T8 B | diefd gRT SR YD Bl Hel
Ofel BT U T ST B, g Ul &I q Ul | e g F Al BR AMEEFIYad AT B el
D1 AT | oereft fgci ufad @l sue |1y of S |
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